IEY—FKI NEO 2x4

WmER KT
FC:::iiﬁ NEZER

ERMK—~ Gl : PERE T 1 ILL (Bli)
BikTF—T (BI&) T4 LRA

Merd
il

—
IEIE
=4
<
<

¢ MR

o Y—UvY Glg) §
S N
- =~ 9 B e BX
d/ =
- — w777 %
g arvtii il
N ‘ o
o) = %\ — N
= == RISE <
) kF7op—t— o 2
|
L1 N
53 ing
— F7 1 B —tig=99
<~ “.r © O HMBE THIERDSE
= Y | <
=5 = g T
LO| R
I|= H©
=1 S | ! S z
= & | o 31 815
H Pt o & I =™ | ‘ © 10
|2 g m
& ﬂ ol ¥ = #H
20|\ B 5 mﬁr V) &
ErY P 3( w ¥\ FF 26.5 o
g 201 | Ve <
S - o < =
=< 15.5] 1 421113 32 8 )
IgEy ~ = 14]| | 4 ( 332 ‘ﬁ
L T % 9 WJJL\HU@E y
3 jmpac 2 =
3 SN
© - ;
3 % Mamy T oy (2“@5 7] 15/ XBMBEERTIVFAV L (FTvay)
BkF—T (Bl BkT—7 (Blik)
Bke— b (Bl | Bk —t G

)
BEKY (Rig)
; ; 77 7]
EEAL (B ——

m X (REERASROES) + (RMOEZ) &
- j 43mMEBRIEVEIICLTLESL,
.
L BEREY 0BE
L
w0 4 —13 6 4
g 32\ DW=W—71 117/32
£ 69.7 7 th 0B =DN—139. 4 69.7
o 43 10.7 10.7 43
H [ 1: i
| =
‘ H
- } == Y=Y (Bl
= = ) o ESFY } Bikr—7 ()
4 ! = = RIS~ (F)
§ EK: = = I ES ST
[~ AIREi= [ ] L
$ ni= = & i—yg ;jg ~
S ) W= ]
[3el 106
© = &5 . i
- Z o
A
% 58.5 | 47.4] |22.5 < 22.9 [ 47.4]| 51.5 %
2.5[21] 71.5 HBIO =W—159.5 21215\ R L (Bl
20 P22 < 20 )
27 W 07 S74LRE
ROW




